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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛÛ×̃ Û ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé.  
Instructions :  All five questions are compulsory. Options are internal. 
    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ ™öÛ¸ÛéÅÛÛ …×ïõ ¸ÛóÊ¶ÛÛé¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
     There is indication of full marks to right side. 
    (3) ¸ÛóÊ¶Û-5¶ÛÛ× Š«ÛÁõ ¾ÛÛ•ýÛÛ ¾Ûä›÷¼Û ÅÛ”ÛÛé.  
     Give answer of question 5 according to instructions. 
    (4) Ü¼Û¶Û›÷ÄõÁõà ÅÛÛ×¼Ûä ÅÛ”ÛÛ¨Û “ÛÜ©ÛýÛäî©Û ÅÛé”ÛÛÉÛé.  
     Improper and long answers will be short listed.  
 

1. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 10 
  Answer any one of the following questions in about 750 words :  
  (1) (i) …×©ÛÁõ …¶Ûé Í¬ÛÛ¶ÛÛ×©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé.  
    Explain the difference between the distance and the displacement 

with  the help of an illustration. 
   (ii) ›÷¦ø©ÈÛ¶ÛÛé Ü¶ÛýÛ¾Û ªÛ¨Û ŠþùÛÐüÁõ¨ÛÛé …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé.  
    Explain inertia with three illustrations. 
  (2) (i) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : Ü¶ÛÅÍÛ ¼ÛÛéÐüÁõ¶ÛÛé ¸ÛÁõ¾ÛÛ¨ÈÛàýÛ ¶Û¾Ûæ¶ÛÛé 
    Write a short note about Niels Bohr’s atomic model. 
   (ii) Äõ¬ÛÁõºõÛé¦Ùø¶ÛÛé ¸ÛóýÛÛé•Û ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛà ©Ûé¶ÛÛé ºõÜÅÛ©ÛÛ¬ÛÙ ÅÛ”ÛÛé.  
    Explain Rutherford’s experiment in brief and give the results. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ  ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 4 
  Answer any one of the following questions in about 125 words : 
  (i) Ü¾ÛËÛ¨Û …¶Ûé ÍÛ×ýÛÛé›÷¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé.  
   Distinguish between Mixture and compound. 
  (ii) …éïõ ÍÛÛˆïõÅÛ ÍÛÈÛÛÁõ 66 m ÜªÛšýÛÛ¶ÛÛ ÈÛ©ÛäÙÇÛïõÛÁõ ¸Û¬Û ¸ÛÁõ Ü¶ÛýÛÜ¾Û©Û •ÛÜ©Û ïõÁéõ ™öé. ›Ûé 

©Ûé¶Ûé …Û ÈÛ©ÛäÙÇÛïõÛÁõ ¸Û¬Û ¸ÛÁõ …éïõ ˜Û‘õÁõ ¸Ûæ¨ÛÙ ïõÁõÈÛÛ ¾ÛÛ¤éø 123 s ÅÛÛ•Û©Ûà ÐüÛéýÛ ©ÛÛé ©Ûé¶Ûà 
ÍÛÁéõÁõÛÉÛ ¡ö¦ø¸Û ÉÛÛéµÛÛé.  

   A cyclist performs motion with constant speed on a circular path of radius 
66 m. If he takes 132 s to complete one round, calculate his average speed. 

  (iii) –ÛÌÛÙ¨Û¼ÛÇ¶ÛÛ× ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  
   State advantages of friction. 
 
2. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 6 
  Answer any two of the following questions in about 100 words : 
  (1) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé :ºæõÅÛÁõà¶Û 
   Write short note on Fullerene. 
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  (2) …ÈÛÁõÛéµÛÛé¶ÛÛ ËÛé¨Ûà ›Ûé¦øÛ¨Û¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  
   Give the characteristics of the series connection of resistances. 
  (3) ©ÛºõÛÈÛ©Û …Û¸ÛÛé : µÛ¾Û¶Ûà …¶Ûé ÜÉÛÁõÛ  
   Distinguish between Artery and Vein. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 8 
  Answer any one of the following questions in about 500  words : 
  (1) ¾Û¶ÛäÌýÛ¾ÛÛ× Š©ÍÛ›÷Ù¶Û©Û×ªÛ ÈÛ¨ÛÙÈÛÛé.  
   Explain the excretory system of human being. 
  (2) …ÈÛÁõÛéµÛÛé¶ÛÛ ÍÛ¾ÛÛ×©ÛÁõ ›Ûé¦øÛ¨Û ÍÛ¾Û›ÛÈÛà ©Ûé¶ÛÛ ÍÛ¾Û©ÛäÅýÛ …ÈÛÁõÛéµÛ¶Ûä× ÍÛæªÛ ©ÛÛÁõÈÛÛé.  
   Explain the parallel connection of resistances and derive the formula of 

equivalent resistance. 
 
3. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 10 
  Answer any one of the following questions in about 750 words :  
  (1) (i) ÈÛµÛÙ¶ÛÉÛàÅÛ ¸ÛéÉÛà¶ÛÛ ¸ÛóïõÛÁõÛé ÈÛ¨ÛÙÈÛÛé.  
    Describe the types of meristemic tissue. 
   (ii) …Ûé¡öÛé¶Û Í©ÛÁõ¶Ûä× ÜÈÛ–Û¤ø¶Û ÍÛ¾Û›ÛÈÛÛé.  
    Explain depletion of ozone layer. 
  (2) …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ¾Û¶ÛäÌýÛ¾ÛÛ× ¸ÛÛ˜Û¶Û¶Ûà ¸ÛóÜ’õýÛÛ ÈÛ¨ÛÙÈÛÛé.  
   Describe with the help of a labelled diagram, the process of digestion of 

food in human in detail. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé :  4 
  Answer any one of the following questions in about 125 words : 
  (1) ÅÛÛþùàÍÛ¾Û …ÜµÛ˜™öþù …¶Ûé ¸Û“¾ÛÅÛ …ÜµÛ˜™öþù …ÛïèõÜ©Û þùÛéÁõà ÍÛ¾Û›ÛÈÛÛé.  
   Explain with diagram : Squamous epithelium and ciliated epithelium. 
  (2) …ÛÐüÛÁõÉÛè×”ÛÅÛÛ …¶Ûé …ÛÐüÛÁõ›ÛÇ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé.  
   Define food chain and food web. 
  (3) ›÷ÅÛÈÛÛÐüïõ ¸ÛéÉÛà ›÷Ü¤øÅÛ ¸ÛéÉÛà ™öé – ïõÛÁõ¨Û …Û¸ÛÛé.  
    “Xylem is a complex tissue” – Give scientific reasons. 
 
4. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 6 
  Answer any two of the following questions in about 100 words : 
  (i) ÜÈÛßÛÛ¶Û ÜÉÛ“Û¨Û¶Ûä× Š¸ÛýÛÛéÜ•Û©ÛÛ ¾ÛæÅýÛ ÍÛ¾Û›ÛÈÛÛé.  
   Explain utility value of teaching of science. 
  (ii) “ÜÈÛ²Û¬Ûâ ÜÈÛßÛÛ¶Û ÜÈÛÌÛýÛ¾ÛÛ× ¾ÛéÇÈÛéÅÛ ßÛÛ¶Û¶ÛÛé ¶ÛÈÛà¶Û ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× Š¸ÛýÛÛé•Û ïõÁéõ” 

ÍÛÛ¾ÛÛ¶ýÛ Ðéü©Ûä¶ÛÛ× ˜ÛÛÁõ Í¸ÛÌ¤øàïõÁõ¨ÛÛé ÅÛ”ÛÛé.  
   Write four specific objectives of ‘Learner will apply the acquired 

knowledge in new situations about science.” 
  (iii) ÜÈÛßÛÛ¶Û ÜÉÛ“Û¨Û¾ÛÛ× Š¸ÛýÛÛé•Ûà ´ùÉýÛ-ËÛÛÈýÛ ÍÛÛµÛ¶ÛÛé¶ÛÛ× ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé.  
   Mention the types of Audio-Visual aids in science teaching. 
 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 8 
  Answer any one of the following questions in about 500 words :  
  (i) ÜÈÛßÛÛ¶Û …¶Ûé ¤éøïõ¶ÛÛéÅÛÛéœ÷ µÛÛéÁõ¨Û-9, ÍÛé¾ÛéÍ¤øÁõ-1¶ÛÛé ïõÛéˆ …éïõ …éïõ¾Û ÉÛà”ÛÈÛÈÛÛ ¶Ûà˜Ûé¶ÛÛ 

¾Ûä°ùÛ…Ûé …¶ÛäÍÛÛÁõ ¸ÛÛ¥ø …ÛýÛÛé›÷¶Û ¶ÛÛêµÛ ©ÛíéýÛÛÁõ ïõÁõÛé :  
   • ÜÈÛÌÛýÛÈÛÍ©Ûä • ÜÉÛ“Ûïõ¶Ûà ¸ÛóÈÛèÜ«Û  • ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé 
   Draw lesson plan for given points to teach any unit of science and 

technology of STD-9, Semester – 1. 
   • Content • Teacher’s activity • Specific objectives 
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  (ii) …Û•Û¾Û¶Û-Ü¶Û•Û¾Û¶Û ¸Û±ùÜ©Û¶ÛÛ× ÍÛÛé¸ÛÛ¶ÛÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  
   Describe steps of Inductive Deductive method with examples.  
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ›÷ÈÛÛ¼Û ÍÛÜÐü©Û ÅÛ”ÛÛé : 14 
 Choose the correct option from the given  choices for each of the following questions : 
 (1) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ½ÛÛíéÜ©Ûïõ ÁõÛÜÉÛ¶Ûé ©Ûé¶ÛÛ ¾ÛæÅýÛ¶Ûà ÍÛÛ¬Ûé ÜþùÉÛÛ þùÉÛÛÙÈÛÈÛà ›÷ÄõÁõà ™öé ? 
  (a) ¡ö¦ø¸Û  (b) ¸Û¬Û ÅÛ×¼ÛÛˆ 
  (c) Í¬ÛÛ¶ÛÛ×©ÛÁõ  (d) ©ÛÛ¸Û¾ÛÛ¶Û 
  For which of the following physical quantities it is necessary to indicate 

direction along with its magnitude ? 
  (a) Speed (b) Path length 
  (c) Displacement (d) Temperature  
 (2) 1 Newton = ______ dyne. 
  (a) 103  (b) 104 
  (c) 105  (d) 106 
 (3) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà …éÁõÛéÍÛÛéÅÛ¶Ûä× ŠþùÛÐüÁõ¨Û ïõýÛä× ™öé ? 
  (a) ¸Ûéˆ¶¤ø  (b) þæùµÛ 
  (c) ÈÛÛþùÇà (d) ÈÛÛþùÇÛ× 
  Which of the following is the example of aerosol ? 
  (a) Paint  (b) Milk 
  (c) Sponge (d) Cloud 
 (4) ÜÈÛÅÛÛ¦ëø ïõýÛÛ ÜÈÛÜïõÁõ¨ÛÛé¶Ûà ÉÛÛéµÛ ïõÁõà ? 
  (a) -ÜïõÁõ¨ÛÛé (b) -ÜïõÁõ¨ÛÛé 
  (c) -ÜïõÁõ¨ÛÛé (d) “Û-ÜïõÁõ¨ÛÛé 
  Which radiation was discovered by Willard ? 
  (a) -rays (b) -rays 
  (c) -rays (d) X-rays  
 (5) …·ÛÈÛÛÐüïõ ¸ÛéÉÛà¾ÛÛ× ¾Ûè©Û –Û¤øïõ ïõýÛÛé ™öé ? 
  (a) ˜ÛÛÅÛ¶Ûà ¶ÛÜÅÛïõÛ (b) ˜ÛÛÅÛ¶Ûà ïõÛéÌÛ 
  (c) …·ÛÈÛÛÐüïõ ¾Ûèþäù©Ûïõ (d) …·ÛÈÛÛÐüïõ ©Û×©Ûä 
  The dead component of phloem is ________. 
  (a) Sieve tube (b) Sieve cell 
  (c) Phloem parenchyma (d) Phloem fibre 
 (6) …ÜÍ¬Û …é ________ ¶Ûä× ŠþùÛÐüÁ¨Û ™öé.  
  (a) …ÜµÛ˜™öþùàýÛ ¸ÛéÉÛà (b) Í¶ÛÛýÛä¸ÛéÉÛà 
  (c) ÍÛ×ýÛÛé›÷¶Û ¸ÛéÉÛà (d) ˜Ûé©ÛÛ¸ÛéÉÛà 
  Bone is an example of ________. 
  (a) epithelial tissue (b) muscular tissue 
  (c) connective tissue (d) nervous tissue 
 (7) SWNT ¶ÛÛé …ÛïõÛÁõ ›÷¨ÛÛÈÛÛé. 
  (a) ºæõ¤ø¼ÛÛñÅÛ ›÷éÈÛÛé (b) ÜÍÛÜÅÛ¶¦øÁõ ›÷éÈÛÛé 
  (c) •ÛÛéÇÛïõÛÁõ ›÷éÈÛÛé (d) ÌÛ¤ÕøïõÛé¨Û ›÷éÈÛÛé 
  What is the shape of SWNT ? 
  (a) Like football (b) Like Cylinder 
  (c) Like ball (d) Like Hexagon 
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 (8) ÉÛä±ù ¸ÛÛ¨Ûà …é ÜÈÛ²ä©Û ¾ÛÛ¤éø _______ ©ÛÁõàïéõ ÈÛ©Ûë ™öé.  
  (a) ÍÛäÈÛÛÐüïõ  (b) …ÈÛÛÐüïõ  
  (c) …µÛÙÈÛÛÐüïõ  (d) …Û¸ÛéÅÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÜÐü 
  The distilled water acts as a/an _______ for the electricity. 
  (a) Conductor (b) Insulator 
  (c) Semi-conductor (d) None 
 (9) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛé ¸ÛþùÛ¬ÛÙ ¸ÛóÜ©Û…éÜÍÛ¦ø ™öé ? 
  (a) NaCl  (b) Mg(OH)2 

  (c) HCl  (d) H2SO4 

  Which of the following substances is an antacid ? 
  (a) NaCl  (b) Mg(OH)2 

  (c) HCl  (d) H2SO4 

 (10) ÍÈÛÛÈÛÅÛ×¼Ûà ¸ÛÛéÌÛ¨Û ¸Û±ùÜ©Û¾ÛÛ× ________ ¶Ûà ›÷ÄõÜÁõýÛÛ©Û ÐüÛéýÛ ™öé.  
  (a) ïõÛ¼ÛÙ¶Û ¦øÛýÛÛéîÍÛÛˆ¦ø …¶Ûé ¸ÛÛ¨Ûà (b) îÅÛÛéÁõÛéºõàÅÛ 
  (c) ÍÛæýÛÙ¸ÛóïõÛÉÛ (d) …Û¸ÛéÅÛÛ ©Û¾ÛÛ¾Û  
  The autotrophic mode of nutrition requires ________. 
  (a) CO2 and water (b) Chlorophyll 

  (c) Sunlight (d) All of the given 
 (11) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ›÷íéÜÈÛïõ Áõà©Ûé ÜÈÛ–Û¤ø¶Û ¶Û ¸ÛÛ¾Û©ÛÛ× ïõ˜ÛÁõÛ¶Ûä× ŠþùÛÐüÁõ¨Û ïõýÛä× ™öé ? 
  (a) ºõÇÛé  (b) ÉÛÛïõ½ÛÛœ÷ 
  (c) ïõÛ•ÛÇ  (d) ¸ÛÛéÜÅÛ¬Ûà¶Û 
  Which of the following is an example of non-biodegradable waste ? 
  (a) Fruit  (b) Vegetables 
  (c) Paper (d) Polythene 
 (12) ÉÛÁõàÁõ¶ÛÛ ïõýÛÛ ½ÛÛ•Û¾ÛÛ× ÉÛä±ù ÄõÜµÛÁõ ¼Û¶Ûé ™öé ? 
  (a) ÒüþùýÛ  (b) ºéõºõÍÛÛ 
  (c) ïõ¨ÛÙïõ  (d) “Ûé¸Ûïõ  
  In which part of the body blood gets purified ? 
  (a) Heart  (b) Lungs 
  (c) Atrium (d) Ventricle 
 (13) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÉÛíé“ÛÜ¨Ûïõ ÍÛÛµÛ¶Û Ü¼Û¶Û ¸ÛóÜ©ÛÝ¼ÛÜ¼Û©Û ™öé ? 
  (a) ˜ÛÛ¤Ùø  (b) ÍÅÛÛˆ¦ø ¸ÛóÛé›÷éî¤øÁõ 
  (c) …ÛéÈÛÁõ Ðéü¦ø ¸ÛóÛé›÷éî¤øÁõ (d) ¤éøÜÅÛÜÈÛ¡ö¶Û 
  Which of the following is non-projected teaching aid ? 
  (a) Chart  (b) Slide projector 
  (c) Over Head Projector (d) Television 
 (14) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛé …éïõ¾Û …Û•Û¾Û¶Û …Ü½Û•Û¾Û¬Ûà ÉÛà”ÛÈÛà ÉÛïõÛýÛ ? 
  (a) ÒüþùýÛ¶Ûà Áõ˜Û¶ÛÛ (b) ÈÛ¶ÛÍ¸ÛÜ©Û ¸ÛéÉÛà 
  (c) ¼Ûïõà¼ÛÛéÅÛ (d) ›÷¦ø©ÈÛ¶ÛÛé Ü¶ÛýÛ¾Û  
  Which of the following unit can be taught with Inductive approach ? 
  (a) Structure of Heart (b) Plant Tissue 
  (c) Buckyball (d) Inertia   

____________ 


